Champion 48" Round FS Table

XOOCRO0CO0B00MN,
XOCGOOOOKMION
4
VAl l'l
| AN A .Y AN
AR A A AR\
D000
(OOG000MMKN
XXOOKHIOOK XX
EELA R BRI b Ogou0000c
X000 YOO
ROOGO0OBNKN
VOO0
YO0 X
XOOOHO0000NX
XY
i
I 79” —

ITEM NO. | PART NUMBER DESCRIPTION QTY.
] 642-R11 4' Round Table Top 1
2 622-R11 Champion Round Table Seat 4
3 634-119 Sq./Rnd Table Leg Support Bracket 1
4 634-111 Sq./Rnd Table Free Standing Leg 8
5 516-028 3/8" SS Nylock Nut 32
6 516-058 3/8"x1-1/2" SS Hex Bolt 32
7 516-023 3/8" SS Flat Washer 64

955-101

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




@ Champion 48" Round FS Table 955-101

Opposing legs

lo
o

TN

Fig. 1

L
SN
@
1 N © 2
Fig. 2
In Accordance to California law: WARNINGThis product contains a chemical known to the State of
California to cause cancer and hirth defects or other reproductive harm.

1. With table top upside down bolt 2 opposing legs on to top. As shown in Fig. 1. Do not
tighten the bolts now.

2. Attach “x” shaped leg brace to the 2 legs.

3. Attach the other 6 legs fastening to the “x” shaped leg brace as you go.

4. Attach seats to other end of leg. The vertical portion of the angle iron leg top bolts flush
with the seat support bar.

5. Flip the table right side up, level the top and seats, and tighten all of the bolts.

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2

m " -



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


955-108

[REV. X.01 [SHEET 1 OF 2

4' Round Single Pedestal Direct Bury

P

W1414]24M%8%4m4
A o 1
= '~ 68 ) | || L W
(=) i, el BT SeSBoE
T <) SoBe s 855550 o |
OoO@OOOoOOOoOOoOOoOO@O@O@@O@O@MQMQMQMQMQM@O.@.O,.Q SBinsuinsoidy O
OO%OwOwO%O%@@%@@@@@@@@@@@@@@@@%%%%%%%&OWOW&OOO AR e
A, @O<%®O%%%%%®M®W®M®W®W®..« TeESgatEese O
L @O®%%%%%%o%%%
~ “Mm
. W
%]42]A30/4873/08O/ Rw
e RRREdeogERg L

;
W]23456789WHQBM




@ 4' Round Single Pedestal Direct Bury 955-108

+ 2@

10" —

‘ L | L — L] : 1 |
‘ @/' o o‘j@ @/ﬁGROUND LEVEL

AN AN VATVATVAOT VATV Y
L 2”

AOVATEOAT AT O CANGING

AN

Tools List
e 7/16"Drill bit 9919925
e  1/2"Drill bit 30" 9 :%f:LcoNCRETE

. 9/16" Socket
. 9/16" Wrench
. 3/4" Wrench

: Leve .
e  Imapct Gun (Optional) 1 @220

. Drill e 19" .

1. Bore a 12-14" diameter hole into the ground. The hole should be at least 32" deep or below

the frost line in your area, which ever is greater.

Place 4-6" of pea rock in hole.

Place center pedestal post into the hole.

Drill out all holes with a 7/16" drill bit. Use a 9/16" drill bit for seat arm end plate holes and

center pedestal post holes at their union.

Bolt the support arms on to the center pedestal post using 1/2"x 7" stainless steel hex bolfs.

Bolt seat supports on to the seat arms using 3/8"x2" stainless steel hex bolfs.

Bolt table top support on to the center pedestal post using 3/8"x2 1/2" stainless steel hex bolts.

Bolt the table top on to the table top support using 3/8"x1-1/2" stainless steel hex bolts.

Bolt the seats on to the seat supports using 3/8"x1-1/2" stainless steel hex bolts.

0. Level table and adjust to desired height. Recommended height is 20" from the ground to the
top of the seats.

11.  Fill hole with concrete no higher than ground level.

rODd

S 00N

In accordance to California law: WARNING- This product contains a chemical known to the State of
California to cause cancer and birth defects or other reproductive harm.

200 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

[REV. X.01 [SHEET 2 OF 2

>



cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.

cari
Typewritten Text

cari
Typewritten Text


4' Round Free Standing Perforated Table

00000000000000
00000000000000 ©OOO0
000000 00000000000000 ©00O0O
0000000 00000000000000 000000
00000000 00000000000000 0000000
0000000000000@ ©0O0OOOO
o000

000000000 00000COO
000000000 0000000

DGO0O0000000000000000C0
0000000000000000000000
0000000000000 00000000000
000300000000 000000000000
00 0000000000000000000000 OO

000000000000000000000000
00000000000000000000DO0O0O

000000 OCOO0OO000000000006000 000000
000000 0000900000000 00060000 000000
0000000 00000000000006000000 0000000
0000000 O0OO0OO000OEEOOEO0000000 0000000
0000000 0000000009890 9000000000 0000000
0000000 0000000000000 00000 0000000
0000000 00000600000000000000 0000000
000000 0O000O0GO0000000000000C00 000000
00 000000000000000C0000D®OO OO

0000000 000000000006000000000 0000000
0oocoo0oo00O OOOOOOOOOO
0000000 0000000060000 00000000 0000000

0000000 000000000

-X-)
0000000 ©60000000000000
0000000 00000000000000 ©OOO0OOO0O0O
000000 0O00O0O0OO000O0O000000 ©OOOOOOO
00000000000000
000 00000000000000
00000000000000

Y

- 79"

955-1P1

ITEM NO.

PART NUMBER DESCRIPTION

642-RP1 4' Champion Perforated Round Table Top 1

634-111 Square Table Leg

622-RP1 4' Round Table Seat Exp. (QS)

634-119 Square Table Leg X Brace

516-058 3/8"x1-1/2" SS Hex Bolt

516-023 3/8" SS Flat Washer

N|ON O A WIN

516-028 3/8" SS Nylock Nut

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




@ 4' Round Free Standing Perforated Table 955-1P1

OPPOSING LEGS

Tools List
. 7/16" Drill bit
. 9/16" Socket
. 9/16" Wrench

. Level
. Imapct Gun (Optional)
. Drill

1.  With table top upside down bolt 2 opposing legs on to top. As shown in above figure.

Do not tighten the bolts now.

Attach “x” shaped leg brace to the 2 legs.

Attach the other é legs fastening to the “x” shaped leg brace as you go.

4.  Aftach seats to other end of leg. The vertical portion of the angle iron leg top bolts
flush with the seat support bar.

S. Flip the table right side up, level the top and seats, and tighten all of the bolts.

w N

Periodic check of bolfs tightness reccommended

In accordance to California law:  WARNING- This product contains a chemical known to the
State of California to cause cancer and birth defects or other reproductive harm.

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

>

[REV. X.01 [SHEET 2 OF 2



cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.

cari
Typewritten Text

cari
Typewritten Text


955-1P8

4' Round Single Pedestal Direct Bury

P

00

o o
oo [e)e}
oo o o0
00000000
0000000
0009000

0009000
oOoOOpPOOO
0000000
000000
006006
0000000

0000000
0000000
0000000

0000009
0006006
00000
(e e o] [e e}
0090000

000000
0000000
0000000
O0000000
0000000
0000000
00000
000

000
00000
0000000
0000000

00000000
0000000

<t
0000000
O 00000000000Q0Q0OO
00 ©00Q00OO0O00®9O0000 00O
00 000000000 00000 0©OOOOO
00 0000000000000OO0 ©0©OOOOOO —
00 ©O00QPO0O0LOOOREEeEeEe 0OOOOO
00 0000000000 0000 0O [ele]
00 o0 000 000000
o 000000
000

0000000000
0000000000000000
00000000000Q00000OO0O

0000000000000 0000000O0OO0

00000000000000Q000000O0O0OO0OO
00000000000000Q000000O0O0OO0OO
00 000000000000 0Q00000O0O0O0O0O0O OO

0000
0000
00000
000000
000000
000000
0000000
0000000
0000000
0000000
0000000
0000000
0000000
0000000
0000000
0000000
000000
000000
Q000000
00000
0000
0000

000000000000Q000000Q0O0
00000000000 QR00QQ0O0Q0Q0OQ
9@00000000000000000QO0CE
0000000000 ®QGO0000000O0
0000000000 ®QGO0000000O0
0000000000 ®QGO0000000O0
00000000@Q00P@O0000O00O0O0
0000000000 Q®O0O0O00O00O0OO0
0000000000 DOOOOOOO0OO
00000O0OO0OS®O0 00000000
000O0O0O0OO®O0 060000000
000000000 DOLGOOO0O0O0OC
0000000000 Q®O0O0O00O00O0OO0
0000000090 0PO®0000000O0
0000000000 ®QGO0000000O0
0000000000 ®QGO0000000O0
0000000000 ®QGO0000000O0
@00000000000000000O0CS®
0000000000000 00 o000
000000000000Q000O0 o0

[eRe oo}
00000
00000
000000
0o00OO0OO0OO
0o00OO0OO0OO
0000000
0O00OOOOO
0O00OOOOO
0000000
0O00OOOOO
0O00OOOOO
0000000
0O00OOOOO
0O00OOOOO
0000000,
0o00OO0OO0OO
0o00OO0OO0OO
000000,
00000
0000Y
[sReee)

00 0000000000000 0000000DYL OO
00000000000000Q00000000O0
0000000000000Q000000O0O0O0OO

0000000000000 00000000O0

Q0000000000000 0000O0
Q000000000000000
0000000000

[l eNe) [l eNe)
000000 000
0000000 O0OO 0@ 000OOOO
O0OO0OO0O0OO0OO0 OOOODOOOOOOMOOO OOOOOOOO
O0OO0OO0O0O0O0O0 ©OOOOOCOO60O0O0O60666 00000000
O0OO0OO0O0OO0O OOOOOOOOOOOOO0O0 OOOOOOO

00000 OOOODMOOOOOGOMOOO OOOOOO

OO0 OOOOMGOOOO0OODO0G6 O0OOOO
O00O0O0OO0O0O0OO00O00000 O

coo
coococo00
coococo00Cc00
0000000
00000

00000 000O0O@POOOCOO@®OOO OOCOO
000 0000GO0QC0QCO0CO0O0CE® 00O0C
0000000000000 O
0000000

coo
coococo00

0000000 ©COO
000000 ©0000000QC0O000QC0O000CO0 O©OOOB®LOO

0000000 000COQPECOCOOCOO@OOO
0000000 ©ececeeceeecceceeco o

ITEM NO.

> Ol < OOl o
SN E RN N
O]
(@)
—I
o
S0
gX |_|=
— =10|=|=
+[o/8 %BOOHHMM
o X|5 |22 Z\z
o I — X XXhh
Z T o O 0| O 0| VX | v
() — Ne) O O|olo
o=l N AR SRR 00
_HmpnwedPCHSSWWWD
o 210 H= | O-'|-°|O|0O Z
x| Qx5 O ol = lay 2| 2L
OIBls IR al5| e8| TIQIR|E =0l
| OO GO El: ' |l—|—=|«x|«x|c |
EPeETan_/Sn/___SS._“_._”_
Ol Q5|0 < x| R = || oo E
O|& O|= ImeumO//n/_B
SIS KON R S R )
i) S sp) (30}
o [0 ™
<€
O
c
@)
lA-
o
L
D — I« | |— || o | <t on [0 [IN|on|o~ [0
oo n|oounnBNN= N
21577 T IEEITIQURRRRRRR
Z | NN [N N N[N0 |0 [~ 0[|~0 |00~ [N
— MMM NN = —|—|—|—|—|— |—
H2 130 R0 <0 [0 o [0 | |1 |1 b || b1 (v
<
a
—|N|m (s o fo|N[o|on || D@ T

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




@ 4' Round Single Pedestal Direct Bury 955-1P8

+ R

10" bE—=—1]
| ] ]
. . I _E | “E | II\\
20" '

olo
‘\@ @ GROUND LEVEL
# f

AOVATEOAT AT O CANGING

AN AN VATVATVAOT VATV Y
L 2”

70N concrere

AN

Tools List

. 7/16" Drill bit
. 1/2" Drill bit

. 9/16" Socket
. 9/16" Wrench
. 3/4" Wrench

: Leve .
e  Imapct Gun (Optional) 1 @2
. Drill e 10" .

1. Bore a 12-14" diameter hole intfo the ground. The hole should be at least 32" deep or below

the frost line in your area, which ever is greater.

2. Place 4-6" of pearockin hole.

3. Place center pedestal post into the hole.

4, Drill out all holes with a 7/16" drill bit. Use a 9/16" drill bit for seat arm end plate holes and
center pedestal post holes at their union.

S. Bolt the support arms on to the center pedestal post using 1/2"x7" stainless steel hex bolts.

6. Bolt seat supports on to the seat arms using 3/8"x2" stainless steel hex bolts.

7. Bolt table top support on to the center pedestal post using 3/8"x2 1/2" stainless steel hex bolts.

8. Bolt the table top on to the table top support using 3/8"x1-1/2" stainless steel hex bolts.

9. Bolt the seats on to the seat supports using 3/8"x1-1/2" stainless steel hex bolts.

10. Level table and adjust to desired height. Recommended height is 20" from the ground to the

top of the seats.
11.  Fill hole with concrete no higher than ground level.

In accordance to California law: WARNING- This product contains a chemical known to the State of
California to cause cancer and birth defects or other reproductive harm.

i} PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

>

[REV. X.01 [SHEET 2 OF 2



cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


	955-101
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3
	Drawing View4


	955-108
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2


	955-1P1
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3


	955-1P8
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2





